SECT	ECTION 3: REFLECTIVE SHEETING ROLLED GOODS			NO BID:		
NO.	ITEM	иом	QTY		PRICE	EXTENDED PRICE
1	Scotch lite Electro-Cut (EC) Film Series 1170	Sq Ft	1	\$	1,10	\$ 1,10
2	Scotch Cal Series 7725 Vinyl BLK&WHT	Sq Ft	1	\$	1,30	\$ 1.30
3	48" width, 12 years warranted, Acrylic (50- yard rolls)	ROLL	12	\$	912,00	\$ 10,944,00
4	36" width, 12 years warranted, Acrylic (50- yard rolls)	ROLL	12	\$	684,00	\$ 8208,00
5	36" width, 12 years warranted, Vinyl Black & White	ROLL	4	\$	588,80	\$ 2.355,20
6	Scotch Lite Protective Overlay Film Series	Sq Ft	1	\$	1,64	\$ 164
7	36" x 50 yards	ROLL	4	\$	738,00	\$ 2952,00°
8	48" x 50 yards	ROLL	4	\$	984,00	\$ 3936.00
9	Scotch Lite Diamond Grade – DG3 Reflective Sheeting Series 4090 (Type ZZ) Pressure Sensitive ASTM (Type 11)	Sq Ft	1	\$	2168	\$ 2,68
10	6" x 50 yards	ROLL	1	\$	201,00	\$ 201,00
11	9" x 50 yards	ROLL	6	\$	301,50	\$ 1809,00
12	12" x 50 yards	ROLL	12	\$	402,00	\$ 4824,00
13	18" x 50 yards	ROLL	1	\$	603,00	\$ 603,00
14	24" x 50 yards	ROLL	4	\$	804,00	\$ 3216.00
15	30" x 50 yards	ROLL	1	\$	100.5.00	\$ 100.5,00
16	36" x 50 yards	ROLL	6	\$	1206,00	\$ 12.36.00
17	48" x 50 yards	ROLL	4	\$	1608,00	\$ 6432.00
18	Scotch Lite Diamond Grade – DG3 Fluorescent Reflective Sheeting YELLOW GREEN Series 4083 (Type ZZ)	Sq Ft	1	\$	268	\$ 268
19	12" x 50 yards	ROLL	1	\$	402,00	\$ 402.00
20	24" x 50 yards	ROLL	1	\$	804,00	\$ 80400

NO.	ITEM	UOM	QTY	PRIC	CE	EXT	ENDED PRICE
21	30" x 50 yards	ROLL	1	\$	1005,00	\$	1005/00
22	36″ x 50 yards	ROLL	1	\$	1206,00	\$	1206,00
23	Scotch Lite Diamond Grade – DG3 Fluorescent Reflective Sheeting YELLOW Series 4081 (Type ZZ)	Sq Ft	1	\$	2,68	\$	268
24	9" x 50 yards	ROLL	1	\$	30150	\$	301,50
25	12" x 50 yards	ROLL	1	\$	40200	\$	402,00
26	18" x 50 yards	ROLL	1	\$	603.00	\$	603,00
27	24" x 50 yards	ROLL	1	\$	804,00	\$	804,00
28	30″ x 50 yards	ROLL	1	\$	1005,00	\$	1005,00
29	36" x 50 yards	ROLL	4	\$	1206:00	\$	4824,00
30	48" x 50 yards	ROLL	1	\$	16,08,00	\$	1608,00
31	Scotch Lite Diamond Grade – DG3 Reflective Sheeting BLUE Series 4095 (Type ZZ)	Sq Ft	1	\$	2,68	\$	2.68
32	12" x 50 yards	ROLL	1	\$	402,00	\$	402,00
33	24" x 50 yards	Sq Ft	1	\$	804,00	\$	80400
34	30" x 50 yards	ROLL	1	\$	1005.00	\$	1005,00
35	36" x 50 yards	ROLL	1	\$	1206.00	\$	1206,00
36	Scotch Lite Diamond Grade – DG3 Florescent Reflective Sheeting ORANGE Series 4084	Sq Ft	1	\$	2,80	\$	2,80
37	12" x 50 yards	ROLL	1	\$	420,00	\$	420,00
38	24" x 50 yards	ROLL	1	\$	840,00	\$	840,00
39	30" x 50 yards	ROLL	1	\$	1050,00	\$	1050,00
40	36" x 50 yards	ROLL	2	\$	1260,00	\$	2520,00
41	48" x 50 yards	ROLL	2	\$	1680.00	\$	336P,00

NO.	ITEM	UOM	QTY	PRIC	E	EXTENDED PRICE
42	Scotch Lite Reflective Sheeting Series IJ680 CR	Sq Ft	1	\$	4,90	\$ 4,90
43	36" x 50 yards	ROLL	1	\$	2188,25	\$ 2188125
44	48" x 50 yards	ROLL	4	\$	2917,50	\$ 1,670.00
45	Scotch Lite Diamond Grade Series 983 Conspicuity RED / WHITE	Sq Ft	1	\$	4,20	\$ 4.20
46	1" x 50 yards	ROLL	1	\$	5250	\$ \$2.50
47	2" x 50 yards	ROLL	12	\$	105,00	\$ 1260.00
48	3" x 50 yards	ROLL	1	\$	157,50	\$ 157,50
49	Scotch Lite Reflective Sheeting Engineer Grade Series 3200DP (Type B) Pressure Sensitive	Sq Ft	3200 39310B 7310	\$	1,49	\$ 49 \$ 1,035
50	36" x 50 yards 3930 al	ROLL	3200 3 3	\$	в7Q50 <u>465,75</u> 89400	\$ 201150 139725
51	48" x 50 yards 34 3/ 0/	ROLL	3206 3	\$	844.00 621.00	\$ 2682.00 \$ 1863.00
52	Scotch Lite Reflective Sheeting Engineer Grade Series 3200 (Type B) Pressure Sensitive 343606	Sq Ft 7310	3200 1	\$	1,49	\$ 1.035
53	12" x 50 yards 343i 6R	ROLL	3200	\$	223,50 155,25	\$ 447,00 \$ 310,50
54	36" x 50 yards 34 <i>3u o</i> r	ROLL	3200	\$	678.50 465775	\$ 2682.00 1863.00
55	48" x 50 yards 343uof	ROLL	3201 4	\$	894 <i>00</i> 621/ <i>00</i>	\$ 3576.00 2484,00
56	Clear Plastic Application Tape (TPM-5) for EC Film	Sq Ft	1	\$	0.375	\$ 0.375
57	9" x 100 yards	ROLL	5	\$	8438 ^{ml}	\$.421.90 par
58	12" x 100 yards	ROLL	20	\$	112.50	\$ 2250,00
59	18" x 100 yards	ROLL	20	\$	16875	\$ 3375,00
60	24" x 100 yards	ROLL	5	\$	225,00	\$ 1125,00
61	Standard Application Tape (SCPS-2, SCPM- 3) TPM-5 for VINYL and EC Film	Sq Ft	1	\$	0.32	\$ 0.32
62	6" x 100 yards	ROLL	1	\$	48,00	\$ 48.00

NO.	ITEM	UOM	QTY	PRICE	EXTENDED PRICE
63	12" x 100 yards	ROLL	5	\$ 96 <i>00</i>	\$ 480.00
64	18" x 100 yards	ROLL	5	\$ 144,00	\$ 720,00
65	24" x 100 yards	ROLL	5	\$ 192.00	\$ 960,00
	\$ 112,015,68				

SECTION 8 - BID FORM SIGNATURE PAGE

The Contractor agrees to provide the service, and/or supplies as described in this solicitation and subject, without limitation, to all specifications, terms, and conditions herein contained. Bidder shall acknowledge receipt of each addendum issued in the space provided on the bid form.



CORPORATE SEAL (If available)

BID MUST BE SIGNED AND NOTARIZED (WITH SEAL) FOR CONSIDERATION

Subscribed and sworn to befo	re me this $\underline{30}$	aay of <u>May</u>	AD, 20.23
Signature	on fi	le Iy Commission Expires:	2/8/28
(ເທດເສເງ Mublic)	\mathcal{O}		<u> 40/28</u>
		AND THE REPORT OF THE PARTY OF	
		H H H H	
		ALL STATE OF OH UNIT	

Finally, the Bidder, if awarded the contract, agrees to do all other things required by the contract documents, and that he will take in full payment therefore the sums set forth in the bidding schedule (subject to unit quantity adjustments based upon actual usage).

CONTRACT ADMINISTRATION INFORMATION:

CORRESPOND	ENCE TO CONTRACTOR:	REMIT TO CONTRACTOR:		
NAME	D Lightle Entopraces of chamilie	NAME	Lightle Enterprises of Ohlo LLC	
CONTACT	Pebble Over	CONTACT	Heid' Cumpingham	
ADDRESS	P.O. Box 329	ADDRESS	P.O. Box 329	
CITY ST ZIP	Frankfort, OH 45621	CITY ST ZIP	Frankford OH 45625	
ТХ	740-998-5363	ТХ	740-998-5363	
FX	740-998-5364	FX	740-998-5364	
EMAIL	Dovero lightle enterarises com	EMAIL	hownshipping light entoprises, com	
		\$ 		
COUNTY BILL	TO INFORMATION:	COUNTY SHI	P TO INFORMATION:	
DuPage Count	y Division of Transportation	DuPage County Division of Transportation		
Attn: Kathy Bla	ack	Attn: Ed Morgan		
421 North Cour	nty Farm Road	140 North County Farm Road		
Wheaton, IL 60	187	Wheaton, IL 60187		
TX: (630) 407-6	5892	TX: (630) 407-6927		

ALL MATERIALS MUST BE BID AND SHIPPED F.O.B. DESTINATION, DELIVERED AND INSTALLED

(FREIGHT INCLUDED IN PRICE)